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T ORERKR
R & | FEH#H| % & &% | S| 85K | aB5EH
X £F 1,117 15 193 1,146 1,339
Bl = 1,039 19 229 988 1,217
iR 78 -4 -36 158 122
BIRE (%) 1.5 -21.1 -15.7 16.0 10.0
5Lt -33.4 -2.0 -18.2 -7.0 -25.2
1 KEEZI
X 4 B FE B 8 B & K
X F | fIFEH|S5FH| XK F | GIFH|5 FHK
T & 4 -5 -2.6 157 11 7.6
H & B 3 3 1.2 145 5 -11.6
|5 i -0.4 29 -8 -15.2
B & — ik 1 1 -0.6 40 -8 -13.8
EEEES 1 -3 0.4 968 122 7.8
&t 15 -4 -2.0 1,339 122 -25.2
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R 4% X £ % B FE B
A F | fMFEH|5EK[AX F|MEH|5 FH
A 157 30 -9.4 4 1 1.8
X 173 -1 0.8 2 -2 -1.2
K 175 19 -12.8 1 0 -2.4
X 163 8 -7.4 2 -2 -0.6
i 190 12 3.2 3 0 0.6
T 134 -10 -19. 6 2 1 0.2
=] 125 20 11.8 1 -2 -0.4
&t 1,117 78 -33. 4 15 -4 -2.0
I OERA
X N x £ # & B E K 8 5 F K
A ZlpiE|sFH|[AXA F|fiFH|[5HFE| X F(MEL|5 FH
=2 &E E 25 -7 4.0 1 -1 -0.6 47 -17 11.4
B 329 12 -27.8 3 -3 -3.4 406 38 -35.2
\ 56258 121 21 -2.8 1 0 0.0 147 28 -9.6
BEREERE 1 2 3.0 0 0 -0.2 1 1 1.2
2 B 303 19 -13.2 4 1 0.8 360 24 -16.0
HETFEE 453 52 0.6 1 -1 1.4 519 76 13.4
B 1,117 78 -33.4 15 -4 -2.0 1,339 122 -25.2
T #mEA
R N % £ #H# K B E K 8 B & K
X HE | fIEH|5FEH| X E|(siEH|5EH| X F |BELH|[5 FLH
A X E®E 158 5 6.4 4 -4 -2.0 155 10 7.0
EERE RS 146 1 -8.6 2 2 0.6 144 5 -10. 4
E @ HEE 765 56 -42.2 2 -1 -2.0 977 78 -46. 4
T 48 11 11.4 1 0 1.8 63 29 24.6
% £ -1 -0.4 -1 -0.4 0.0
it 1,117 78 -33.4 15 -4 -2.0 1,339 122 -25.2
b FREER
& 4 LA 8 5 & X
A Z | mEHK|SHEK|X F|amHFEK|5 FH
- % B 0.0 16 1 3.2
E INEHE 0.0 49 17 18.6
£3) ki 0.0 15 -4 -6.2
NE 0.0 80 20 15.6
= £ -1 -1.2 192 47 13.8
It F 6 2 1.0 819 63 -4 .4
= B E 9 -5 -1.8 248 -8 -50. 2
it 15 -4 -2.0 1,339 122 -25.2




